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3 Digit Minus 3 Digit Name:
Use subtraction to solve the following problems. Answers
1.
1) 287 2) 819 3 971 4) 509
- 201 - 359 -403 ;137 5
3
4,
5 214 6) 800 7 527 8 276 >
- 141 -190 - 334 —_25_4 5
7.
8.
9) 806 10) 826 11) 4009 12) 856 9.
- 459 -312 - 244 - 189
— — — 10.
11.
12.
13) 126 14) 929 15 550 16) 825 13.
-110 - 304 -410 -627
o 14.
15.
16.
17) 467 18) 488 19) 134 200 475 17
- 379 -468 -127 —_207
18.
19.
20.
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3 Digit Minus 3 Digit Name: Answer Key
Use subtraction to solve the following problems. Answers
1. 86
1) 287 2 819 3 971 4 509
- 201 - 359 - 403 - 137 2 460
86 460 568 372
3 568
4 372
5 214 6) 800 7 527 8 276 > 3
- 141 - 190 - 334 - 254 . 610
73 610 193 22
7 193
8. 22
9 806 100 826 11) 409 12) 856 9, 347
- 459 -312 - 244 ;189 514
347 514 165 667 10
11, 165
12 667
13) 126 14) 929 15) 550 16) 825 13, 16
- 110 - 304 - 410 - 627
16 625 140 198 4. 625
15, 140
16. 198
17) 467 18) 488 19 134 20) 475 - 88
- 379 -468 -127 ;207
88 20 7 268 18. 20
19, 7
20. 268
1-10 [95|190|85(80(75|70| 65|60 |55|50
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3 Digit Minus 3 Digit Name:
Use subtraction to solve the following problems. Answers
568 86 625 347 73
514 610 22 667 372 1
460 165 193 140 16
2.
1) 287 2) 819 3 971 3.
- 201 - 359 -403
E— 4,
5,
6.
4) 509 5 214 6) 800
- 137 - 141 -190 .
8.
9.
) 527 8 276 9 806 10.
- 334 - 254 - 459
e e e 11.
12.
13.
10) 826 11) 409 12) 856
- 312 - 244 - 189 o
15.
13) 126 14) 929 15) 550
-110 - 304 -410
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